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SECTION-A
‘(Multiple Choice Questions)

Each question is of 1 mark,

In what ratio, does x-axis divide the line segment joining the points
A(3, 6) and B(-12, -9) ?

A 1:2. 1\ B 1:4
(C) 4:1 D 2:1
e

Inthegivenﬁgma.PQistangenttothecimlecentredatO. If ZAOB = 95°,
then the measure of ZABQ will be

(A) 47.5° ZV(B) 42.5°

(C) 85° D) 95°
A a3 a

£ 2 tan A = 3, then the value of AsinA+3cosA ;o
4sin A—3cosA

7 1
(A B) —
) 313 V13
C) 3 (D) does not exist

In a group of 20 people, 5 can’t swim. If one person is selected at random,
then the probability that he/she can swim, is

3 : 1

(Aa) Z (B) -?:
1

© 1 (D) 2




